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Why is it interesting to study the Web 

Graph? 

 It is the largest artifact ever conceived by the human 

 Exploit its structure of the Web for 

 Crawl strategies  

 Search 

 Spam detection  

 Discovering communities on the web 

 Classification/organization 

 Predict the evolution of the Web 

 Mathematical models 

 Sociological understanding 
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1. Red Page 

2. Yellow Page 

3. Blue Page 

4. Purple Page 

5. Green Page 
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1. Red Page 

2. Yellow Page 

3. Blue Page 

4. Purple Page 

5. Green Page 
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1. Red Page 

2. Purple Page  

3. Yellow Page 

4. Blue Page 

5. Green Page 
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1. Red Page 

2. Purple Page  

3. Yellow Page 

4. Blue Page 

5. Green Page 
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S = {s1, s2, … sn} 

P = {Pij} 

si sj Pij 
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i n 1 

More generally, the vector q = (q1, … qn) means the 

walk is in state i with probability qi.  
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Not 

ergodic 

(even/odd)
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For this example, π1=1/4 and π2=3/4. 
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